
set 421 AREA:  olmert  start=286997 cyl size = 385 numrows
= 12 numcols = 19  comp = 2.280000e+002 pvalue=  0.0150000
(1,1)

5/24:04edy`lixg`xy`dhd`nik5/24:04

5/24:11vegacnrzi`deyxy`dz`5/24:11

5/24:18z`xacddfdikzwvxxivw5/24:19

5/25:03kipi`lnqgzeyxeyicak5/25:05

5/25:10vlrpdikevpi`piyncgi5/25:11

5/25:19avx`axy`dedikidl`zp5/25:19

5/26:05hrnidienyieblecblvr5/26:05

5/26:12kdpyazyilydzpyxyrnd5/26:12

5/26:16lkaalelkaptkyz`ided5/26:17

5/27:03xdedikidl`pzpklvx`f5/27:03

5/27:10zz`ezevnz`eeiwgxy``5/27:10

5/27:19pn`xex`akyrn`yz`aie5/27:20

      771 hxnle`
      385 pxwyd
          2 ny`i

          5 leti


